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Il 9,000
201 et 2,000 1,500 500
Jl 2,000
01 AtER22/Hl 2,000 1,500 500
OIS Ad 2,000
O FTAALZ IR (22Hl) 2,000,000& * 14 2,000
Jl 2,000
202 O4Hl 4,000 2,500 1,500
Jl 4,000
01 =AYl 4,000 2,500 1,500
O JIZEXAE 4,000
O FTAMY SREFT 4,000,000& = 14 4,000
P 4,000
307 PI2HOIA 3,000 3,000 0
Il 3,000
02 QI3 aEx 3,000 3,000 0
O JIsE2X2AY 3,000
O FTAAL X (ATL A8 =22 H) 3,000,000 * 14 3,000
Jl 3,000
WA EZFIIOIH XA 10,000 0 10,000
= 4,000
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[0 EZAY AE3 10,000& * 1009 1,000
402 I KHE01H 240,000 239,000 1,000
01 BIZPGEEXR 240,000 239,000 1,000
O s&= Mol2E XA 180,000,000& * 1A 180,000
O Eg8a2(d) N 20,000,000& = 4.5ha * 50/100 45,000
O 2%4x X 4,000,000& * 7.5ha * 50/100 15,000
MAESH=ESY 384,200 309,060 75,140
& 82,760
Al 301,440
402 I X201 384,200 309,060 75,140
& 82,760
Al 301,440
01 It EEX 384,200 309,060 75,140
O SHIZXZALS 384,200
O A2sSHA=IEIG}NE 320,200,000& = 141 = 50/100 160, 100
= 32,020
Al 128,080
O ASHSYULMHIZZ X 396,400,000 * 141 = 50/100 198,200
= 39,640
Al 158,560
O QIETHAMAD B E X2 37,000,000& = 14} = 70/100 25,900
& 11,100
Al 14,800
LA AHAMISY 122,100 1,500 120,600
= 24,420
Al 97,680
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= 8,640
Al 34,560
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